VA & 2L R R A S X

O: 47 L
® O:=6ith
@ CEHESIE. AERBRMBES



HBEREILLE

EREREES

N | & AT Fa R (me. /L) C O D(mg/L)
Cob | T-N [ 1—P 5

1 |[FRY L 20 058 | o012 |

N EEEIN 3.4 073 | ooic [N

3 |[KHFL 33 052 | ooos [HIN

I ESLESA 39 064 | 0007 [N

5 [RTLA L 2.7 075 | o009 [HN

6 |PIAS L 30 096 | 0009 [

I 32 066 | 0013 (I

8 |BAYL 338 080 | 0023 [

9 |EMY L 7.7 13 0.060 NN

10 [FRmmRD| 63 12 0074 |

1 |RFhiicsk | 84 14 0.5 [

12 | A L 2.9 23 | 0056 [

EHEEEN 23 12 | ooos [

14 |BIA L 5.3 084 | 0035 [N

15 |PES L 5.9 088 | 0032 |

16 [RthA L 4.0 060 | 0015 [N

HEEEN 43 050 | oot1 [N

18 [t 4.1 069 | ooic [N

19 [/INB&ith 2.8 028 | oot [N

20 |FBlith 41 036 | 0021 [

21 R Lit 35 - - I

22 [inEmEm)| 43 030 | oois [N

23 |R1Tith 5.7 - -

24 |chEMith 11 - - I

25 |EHit 4.1 084 | ooto [N

26 | )1l Rt 2.9 038 | ooio [

27 |E@ 18 14 o1 [

28 | ARt 23 1.9 016 |

29 |PRLiniEn| 94 1.4 0085 [N

30 | B Rt 21 26 023 [

31 gt 9.4 095 | ooss [N

32 |giimEmm)| 53 049 | 0027 [

33 [4Mflith 3.4 029 | ooos [N

34 [t 438 058 | 0027 [

35 |MEith 6.2 044 | oo17 [N

36 |7 P9t 7.7 1.1 006 | I

37 SRt 9.6 0.91 026 (I

38 |=A=ERM | 90 094 | 0062 [N

39 |fEEFt 20 17 020 (I

40 |Fit 16 16 020 [

M |BREM 438 054 | 0033 [

42 |BDith 9.3 083 | 0058 |

43 |HEith 8.4 058 | oosc |

44 X Eit 4.4 058 | 0007 [N




N | % AEFER (mg L) C O D(mg/L)
CoD [ T-N [ T—P 5 10 15 20 25 30 35
45 |JL&it 9.4 1.2 o11 [
46 | Rt 8.4 11 0065 |
47 | AR 25 19 036 |
48 | Lt 6 055 | ooz |
49 |t 20 - B
50 |3t 8.3 0.73 o1 [
51 |EtEFit 16 19 037 [
52 |FEX it 29 2.2 034 |
53 |&Tith 10 1.1 0087 [N
54 |=ith 19 13 o2 [
55 B Mt 8.7 099 | o071 |
56 |BsER 15 12 o1 [
57 |E it 11 0.99 0.1 [
58 |t /it 10 - - I
59 | &8t 11.0 - - I
60 [FmdmESm| 7.2 - - I
61 |— D&t 15 - -
62 |{=ith 9.6 - -
63 [FLilith 26 053 | oot [N
64 |28t 9.9 072 | oosc |
65 |= HER 6.1 054 | 0030 [N
66 [z At 77 054 | o014 [N
67 | Lt 5.9 030 | oot6 [N




